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1. Answer the following questions : 1x5=5
(a) How many $19Es are there in the Ramayana?

(b) In which dynasty Ramacandra was born?

(c) ‘Y Jaq B’
Who:is ‘F@IFs referred to here?

(d) What is the meaning of the term ‘3IEI°°T@T’?

(e} Who is Guha?
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(2 ) (3)

3 lain any ¢ f the following : 5x2=10
2. Explain any two of the following : 5%x2=10 e T T
- 3T 979 TR 3T |
(a) T g ¥ T T e (a) f‘; !
T TERATAE AT T4 4T | LU R
: (b) FYIEIT IxAT I W AT |
(b) wHIh: ¥he: Fx I Ry | S Sl i
3T: FHEAAT Hed Mgzt |
TCHCATHRRAT AT=AT: HIGET f |
(c) T T AR T 9| (c) _
TR < R ) TRATTIYE T TR ST |
3. Answer any two of the followings 10%2-20 5. Answer any two of the following : 10x2=20
(a) Write a note on the elements of poetic (@) :frit‘e gesummarysof C_hap_ter 191 of the
beauty of Chapter I of the Balakanda of the antiparvan of the Mahabharata.
Ramayana. (b) Discuss the duties of a person in the
(b) “ofemaTE g Free 7| Brahmacarya and Garhasthya stage as you
HE%F:? aﬂ%ﬁsﬁﬁﬁﬁﬂﬁﬁﬂll” find in the Santiparvan (Chapter 191) of

; the Mahabharata.
Who is the speaker here? Who is addressed

as ‘Ted’? Summarise the speech hinted (c) Write short notes on ‘g’ and ‘B,
herein.

6. Read the following passage and answer the

(c) Elucidate the idea contained in the questions in Sanskrit -

following : WWW@-WWWW
(i) ¥z 33 it SRt femf | w?rwﬁarﬂﬁham:miﬁﬁg:—-“a@r,ﬂﬁﬁ
(i) T AT T | <RET| % TSI g of e g
ks 8A/40

( Continued ) ( Turn Over )



8A/40

(4 )

Eged T8 7 TReavy IR | U6 FH0T T=aeqisad
qTET:, 9 RIS FAEEn: ARG v qEfist,
R T
AR AT TR 079 HE 7S g | 379 3 e —
FA O OWEEE S qed? 6 e
deRiE— T  RifeaBe:, ™ T @
eREegal e e aeree S
I 3| SrgRmEE gE | TR |
SThE—

‘MR uF HEawd weRg e |

A WYAET: H i TR
ﬁﬂﬁ?ﬁsﬁ%ﬁifﬁ{mﬁ@ﬁﬁ@ﬁmﬁgﬁm|
STTE F— TR FeRToafaT | oo STt a=afet: wfersafy
T Furmaiy oy o e wfer ff g
Sgear |’
(a) & F7 FTRogAT: fCfiHdE:?
(b) FA AT T THUIEET:?
(c) 3 J IR FH Faawd:?
(d) F <F FTEO: A 2
(e) Afm: T frmmfq?

(f) vl IR & ety @

1

1
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(g) Tomd T FTEOGM: WER 7 Feawe:?

(h) IREH, T, YA, TEET—IR NS
FeIf: JeAT |

(i) TEWISINN, JEGESN—IN (e
gfafa=ae: Feof: |

()  FaT: 3 9w Hisfer? aft ¥ w6 S
foreaam |
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